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No | B¥fE |7mvy i B - *TEf FE S
11900 (| A THAFSSC 2 — 0 HERAFMFC(A) WMLFC(A) BH—FC(A)
2193 | B LFC(A) 1 — 0 BE—FC(A) THRFSSC HEFHAFC(A)
311000 A THFSSC 4 — 0 Jz=vYRFC. MMILFC (A) PIZ=#FFC
4 11030 B WMUFC(A) 4 — 2 CIZFFC THFSSC JI=YJRF.C.
5 [11.00f A #2FC o — 11 THFSSC FCO4oX WMLFC(A)
6 |11:30| B FC4v X 0 — 1 WMUFC(A) th2FC THFSSC
7 | 12:00 #WLFc(B) 1 — 3 HEHREHAFC(B) ®—FC(B) it EFC(B)
8 | 12:30 BR—FC(B) 3 — 0 it EFC(B) #wLFc(B) HEAfAFC(B)
9 | 13:00 #WLFc(B) 1T - 2 RRERFyYoT ®—FC(B) EHEARN—X
10 | 13:30 BR—FC(B) 0 — 1 EAEKRVN—-X WMILFC(B) RERFvUT
11| 14:00 bears TOKYOFC 4 — 1 #WMUFC(B) AZFC BE—FC(B)
12 | 14:30 AZFC 5 — 1 B—FC(B) |bears TOKYO FC| #MUFC(B)

Ba—k(JII{E))

No | Bffd [Fovs X - *T FE BlE
11900| A | Z2z=vy9&RFC. 4 — 0 th2FC TI=#FC FC4vX
2 |93 | B PI=FFC 2 - 1 FCO4oX =YY AFC. #2FC
3 |10:00| A | HEFEMFC(A) 4 — 0 M2FC B—FC(A) FCo1vX
4 [10:30| B H—FC(A) 0o — 1 FCo4vX HERMFC(A) M2FC
5111:00] A | Zz=vyYAXFC. 0 — 3 HEFAFMFC(A) PIZAFC BR—FC(A)
6 [11:30| B PI=FFC 0o — 2 H—FC(A) Jrx=yYAF.C. | HEFFFAFC(A)
7 | 12:00 BEFv>7 1 — 0 bears TOKYO FC| EHEMKRI/N—X AZFC
8 | 12:30 EAARANA—X 0 — 4 AZFC HEFv>T | bears TOKYO FC
9 | 13:00 HESMFCMB) 1 — 1 bears TOKYO FC #h EFC(B) AZFC
10 [ 13:30 # EFC(B) 0o — 8 AZFC HEMFC(B) | bears TOKYO FC
11| 14:00 RRFv¥>7 0 — 0 HESAFAFCB) | HmAKRL/NA—X th EFC(B)
12 | 14:30 HEAARANA—-X 2 — 0 th EFC(B) RRFv>7 | HEFARFC(B)
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No | BffE [FEvs XTE — XTE FE EE:S
11900 f C | J49bT—JLSC 3 — 1 th EFC(A) pN:: L) BIAFC
2 | 9:30 pN:: L) 3 — 0 BIAFC J4UrJ—)LS.C th EFC(A)
3 [1000] € | Hasbu—nsc 8 — 0 fAFux XEY57 | HMETTLY
4 110:30 pN:: ) 5 — 0 WEIZILY | JaUbT—ILSC fhRFvX
5 (11:00f C FmAKIRSC 1 — 2 94k 7—)LSC HEREMmSC pN:: )
6 | 11:30 HEREithSC 0 — 5 PN:: /) FMKIZESC | J14UbT—ILSC
Da—~ (148D

No | Bffd [Fovs Xt Bk — Xt B FE 2lE
11900 | C fhARFvX 0o — 0 A KIESC HEIZILY HEEMSC
2 | 9:30 HMEIILY T = 1 HEEMmSC fhARFVX A KIESC
3 1000 C th EFC(A) 0o — 0 A KIESC BIAFC HEMmSC
4 | 10:30 BIAFC 1T = 2 HEEMSC th EFC(A) A KIESC
5111:00| C fhARFVX 0 — 0 it EFC(A) HEIZILY BIAFC

6 | 11:30 HETZILY 1 = 5 BiAFC fmARFVX ith EFC(A)




